- SAIABIX TLESA A Y] . SAIGE~1/B-1282/B~30BIXEHRSFA VI AT LET,
- 12A31B~1H3HIE NEFRFHBENT AV TEITLET,

A2 RBRE) EF

- LIEEAREOBAR [BRS A7) TEBITLET 00s/5/9 Swbcazy.
'17—975§§7T='511,'CL\%>‘EI3:~ FRITREIZCHDODETERELIHBAERT L LGLHBELHY FTOT. BRICEBAaE &L, htt/p\s://Www.k(éneibus.jp/
SF074E4818 5414 VvRIE B a o — 5F O = (BEVADELE) 6015-5
T TEROHET H: BHHHEODOHEST I/—R E‘ /\ X ﬁj@ <%/:E> H:\I_]_:ZIJEQ j(ﬁ'%"%ﬁﬁ (2= N S /N
R NSRS TeL 0957-52-6134 & & ty
E:EREStTY S —EH K REPEEEH
T % X i i s
(R &) 2 6 ] 8 9 10111213 | 14| 15 16 17 18 19 20| 21| 22| 23
[(E&EvvhL] RIBERAD w g| 38 08 08/ 08| 08| 08/ 08| 08| 38 38 38
H BB g EEfT 58
AIHAEEDH tHE%| 38 18 43 08 08| o8| o8| 08| 08| 08| 38 38
(B3&vhL] EBERAT T B 8
H B E R S A BTRI
A HRNEED H TH 58
[E&EY Y] RIGER- BFai 18 928
H S8 - EEfT S H
RNTHNEEDH 43
g gm%}g%@,}_ + H 30 19|% 43 1 38
EHEERtVS- THM® 29 43 38
T g E 31 010121z 01| 21l= 01|z 11 = 41| 11 41| 21 01 00 00
10 SHEERR] = 31|E 41 = 41 = 41 30
fam E 31 E01E01lE21|= 01| 21|= 01| 11 = 41| 11 41| 21 01 00 00
E 31|= 41 E 41 E 41 30
o T B 92| a3 57
L 8% | 22|5 07 12 57
= £ B3| 471 07
1T REER THMR + 07
3 g |E57|E 22 = 38| 03 = 08| 48 E 48|= 48|= 48| 48| 48
1-3 AABAD =3l &3]
g 57| 22 37|E02 £ 07|x 48 = 48|= 48|= 48|= 48|= 48
+37 42
SL KAE—ZFI ¥ A 24 14| 14| 14 14| 14| 14 44 44 44
RIBEZRt - AAGAO | £ AKR 14 14 14 14 44 44 44




